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’ 100kN/mM%#BZ 5% -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
s 1.00{0.00 ~ 7.37 93.99| #h L4t |0.00 ~ 7.37| 2.36 12.62 s 1.00f 5.00 ~ 10.03 93.99 #h L4t | 5.00 ~ 10.03| 2.36 12.62
9 100kN/m##8 %% = ol ~ = -|3m#%i#825%(0.00 ~ 0.03] 3.03 16.21| 100kN/m#%#B 2% = o ~ = -|3m#%#8%5(10.00 ~ 10.03| 3.03 16.21
s 1.00{ 0.00 ~ 457 56.95| =hLlst | 0.03 ~ 457| 3.00 16.05 s 1.00f 5.00 ~ 10.03 56.95[ #hLlst | 5.00 ~ 10.00f 3.00 16.05
3 100kN/m##8 %% = ol ~ = -|3m#%i#8 25000 ~ 0.02| 3.02 16.19| 100kN/m#%#8 2% = o ~ = -|3m#%#825(10.00 ~ 12.03| 3.02 16.19
s 1.00{0.00 ~ 5.20 64.84| =h L4t |0.02 ~ 520/ 3.00 16.05 s 1.00f 5.00 ~ 12.03 64.84| =hLl4t | 5.00 ~ 10.00f 3.00 16.05
4 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{ 0.00 ~ 6.08 76.23| =h L4t | 0.00 ~ 6.08] 2.82 15.11 s 1.00f 500 ~ 11.56 76.23| =hLlst | 5.00 ~ 1156 2.82 15.11
5 100kN/m##8 %% = ol ~ = -|3m%i#825(0.00 ~ 0.64| 4.09 21.90| 100kN/m#%#8% % = o ~ = -|3m#%#z5| 500 ~ 13.26| 4.09 21.90
s 1.00{0.00 ~ 2.00 2144 =hLlst | 064 ~ 200/ 3.00 16.05 s 1.00f 5.00 ~ 13.26 2144 #hl4+ | 5.00 ~ 500 3.00 16.05
6 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 238 31.81| =hLlst |0.00 ~ 2.38| 2.87 15.33 s 1.00f 500 ~ 9.56 31.81| #nklst | 500 ~ 9.56| 2.87 15.33
7 100kN/mM%#BZ 5 -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = FhLst = -~ = -| Zh st -~ = = =
8 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhiist -~ = = = st = -~ = -| Zh st -~ = = =
9 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhiist -~ = = = FhLst = -~ = -| Zh st -~ = = =
10 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
zh st -l -~ = -| Fhiist -~ = = = FhLst = -~ = -| Zh st -~ = = =
» 100kN/mM%#BZ 5 -l -~ = -|3mEBZ S -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Zh st -~ = = =
12 100kN/mM%#BZ % -l -~ = -|3mEBZ 5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = FhLst = -~ = -| Zh st -~ = = =
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~ |
=EFR




